
1

2 3

4

4

5 6

7

service@vcm-gruppe.de

Aufbauanleitung

Artikel:
Waschbeckenschrank Esilo 

 800 x 460 x 816 mm

   A

x 8

  7x50mm

x 4

   B   C 3.5 x 16 mm

x 52

128 mm

x 2

   D    E

x4
   F     G

x 4

   H M4 x 22 mm

x 1

    I 

x 4 x 4 x 2

H100 J

460 800 

816

K

x 4

No B b x
1 800 440 1
2 700 440 1
3 700 440 1
4 768 100 2
5 396 712 1
6 396 712 1
7 800 95 1



2
3

4

4

K
x 4

1

2

3

4

4

1

2

H

H H

H

1

2

3

4

J J7

3

E

E

E

E

E

E

E

E1

2 3
5 6

4

4

7

D D

D
x 2

G x 4

E x 4

C x 8

        E

4

C

x 163.5 x 16 mm

C

x 43.5 x 16 mm

5

E x 4

C x 8



5

C

x 83.5 x 16 mm

F x 4



2

   1

4

4

6

5

6

7

8

9

10

11

12

13

service@vcm-gruppe.de

Aufbauanleitung

Artikel:
Schrank Esilo 1 Tur 1 Schublade

 400 x 460 x 816 mm

..

460 400 

816

No B b x
1 400 440 1
2 700 440 1
3 700 440 1
4 368 70 2
5 368 420 1
6 400 80 2
7 311 80 1
8 311 80 1
9 396 152 1

10 396 556 1
11 712 396 1
12 400 342 1

3

   A

x 8

  7x50mm

x 4

   B   C 3.5 x 16 mm

x 36

128 mm

x 2

   D    E

x 2
   F

x 40

    G

x 4

   H 

x 2

M4 x 22 mm

x 1    x 1

    J 400 mm    I 

  K 3.5 x 25 mm

x 6

  L 3.5 x 35 mm

x 4 x 4

   M    N

x 4 x 2

OH100

4.2 x 32 mm

P

x 2

12mm



4

4

2 3

1

4
4

2 3

1

2 M

M M

M

F x 25

1

2

11

3

J J
J x 2

3.5 x 16 mm
4 x C

11

1

 2
3

 E

 E

E x 2

3.5 x 16mm

C x 4

4

N
N

5

1

  2  3

N x 4

5

N
N

A x 4
A x 4

3.5 x 16 mm

x 16C



6

68

7 L

F
x15

12
8

6

6

6

6

7

8

12

J

J

7

67

D

F

F

9

10

2
3

1

9

F x 2

C x 4 10

10 2

D
x 1

G x 2

3.5 x 35 mm

x 4

C

3.5 x 16 mm

x 4
5

P+H

P+H

6

6

7

9

12

H x 2

H
P

P+H

8



8
2 x O 4 x C+

13

OR

K

3.5 x 25 mm

x 4

K x 4

G x 2

D
G

G
D 

M4 x 22 mm

K

K

K x 2

6



1

2

3

4

4

5

5

6

7

H100

   A

x 12

  7x50mm

x 8

   B   C 3.5 x 16 mm

x 20 x 2

   D    E

x2
    G

x 1

   H 

x 4 x 2    x 4

    J     I 

600 460

816

  F 3.5 x 25 mm

x 4

service@vcm-gruppe.de

Aufbauanleitung

Artikel: Schrank Esilo Ofen 
 600 x 460 x 816 mm

No B b x
1 700 440 1
2 700 440 1
3 600 440 1
4 568 70 2
5 568 100 2
6 600 95 1
7 596 96 1



1 2

3 4

A

x8 D E

  
+

x 2x 2

+

3.5 x 16 mm

C x 16

4 x A

J x 4

4 x A

4 x J

1 2

4

4

5

5

A

x4

2

1

3

6

4 x A

2 x E

2 x D

4 x H

2

1

3

7

3.5 x 16 mm

C x 4

2 x I 4 x C+



5

3.5 x 25 mm

F x 4

F x 4



3

1 2

4

4

5

6 7

8 8

9

No B b x
1 700 440 1
2 700 440 1
3 600 440 1
4 568 70 2
5 568 420 1
6 296 712 1
7 296 712 1
8 712 296 2
9 600 95 1

service@vcm-gruppe.de

Aufbauanleitung

Artikel:
Schrank Esilo 2 Turen

 600 x 460 x 816 mm

..

   A

x 8

  7x50mm

x 4

   B   C 3.5 x 16 mm

x 36

128 mm

x 2

   D    E

x4
   F

x 25

    G

x 4

   H M4 x 22 mm

x 1

    I 

  K 3.5 x 25 mm

x 4 x 4

L    M

x 4

x 2
H100

J1 x 680mm

460 600 

816



1

2

3

1 2

3

1 2

4

4

3G

G

G

G

8

8

H

8

8

F x25

3

3

8 8

A x 4

A x 4

3.5 x 16 mm

x 16C

M x 4

5

4



   E

   E

   E

   E
   E

   E

   E

   E

I

I

E x 4

C x 8

        E

D
x 2

G x 4

E x 4

            3.5 x 16mm

          C x 8

5

3

8 8

1 26 7

4

4

2 x J 4 x C+

9

5

D
D

3.5 x 16 mm

x 4C

5



3.5 x 25 mm

x 4K

6



No B b x
1 600 290 1
2 600 290 1
3 768 290 2
4 768 268 1
5 596 396 2
6 596 396 2

service@vcm-gruppe.de

Aufbauanleitung

Artikel:
Hangesch Esilo 2 Glastur

 800 x 310 x 600 mm

1

2

3

3

45

6
.. ..

5

6

  7x50mm

 8 x

  A    B

 8 x

   C

2 x

   D

20 x

   E    F

1 x    4 x
   L    H    J

 2 x

3.5 x 16 mm

4 x

M4 x 22 mm

K    I

    4 x

   G   8 mm  6x80mm

2 x 2 x

128 mm

35 x

M 1 x 565mm

800 310

600



1

2

A x 8

I x35

H x 4

G x 4

E x 8

3

1 2

3

3

2

6

2 x A
2 x A

2 x A

2 x A

4 x H

3

1 2

5

G

G

6

6

M

6

G

G

6 6



G x 4

E x 8

G

L

J
x 2

x 2 x 2 x 4
E

x 2
K

E
x 4

C x 2

D x 4

4

C

G

G

L

5

1

3

4
5

C

G

G

2

5 5



No B b x
1 600 290 1
2 600 290 1
3 368 290 2
4 368 268 1
5 596 396 1
6 596 396 1

service@vcm-gruppe.de

Aufbauanleitung

Artikel:
Hangeschrank Esilo 1 Tur

 400 x 310 x 600 mm

  7x50mm

 8 x

  A    B

 8 x

   C

1 x

   D

12 x

   E    F

1 x    2 x
   L    H    J

 2 x

3.5 x 16 mm

4 x

M4 x 22 mm

K    I

    2 x

   G   8 mm  6x80mm

2 x 2 x

128 mm

22 x

1

2

3

3

45
6

600 

310 400 

Hangeschrank Esilo 1 Tur.. ..



1

2

A x 8

I x22

H x 4

G x 2

E x 4

3

1 2

3

3

2

6

2 x A
2 x A

2 x A
2 x A

4 x H

3

1 2

5

G

G



G x 2

E x 4

G

L

J
x 2

x 2 x 2 x 4
E

x 2
K

E
x 4

C

D x 4

4

C

G

G

OR

L

5

1

3

4 1 5

3

4

5



No B b x
1 400 290 1
2 400 290 1
3 568 290 1
4 568 290 1
5 596 396 1
6 596 396 1

service@vcm-gruppe.de

Aufbauanleitung

Artikel:
Hangesch.B60 Esilo 1 Tur

 600 x 310 x 400 mm
1

2

3

4

5

6

.. ..

  7x50mm

 8 x

  A    B

 8 x

   C

1 x

   D

22 x

   E    F

1 x    2 x
   L    H    J

 2 x

3.5 x 16 mmM4 x 22 mm

K    I
    2 x

   G

  8 mm  6x80mm

2 x2 x

128 mm

22 x

M

600310

400

 2 x x 2 x 2

N



1

2

A x 8

I x22

G x 2

E x 4

3

4 x A G x 2

E x 4

G

C

D x 2

N
E x 4

M
E x 6

3.5 x 16 mm 3.5 x 16 mm

4

1 2

3

4

4 x A

6

2
4

3

L

M
M

N

N

C

G x 2

4

3

5

21

3

4

6



H

J
x 2

x 2 x 2 x 4
E

x 2
K

E
x 4

5

6

5

H

3.5 x 16 mm



No B b x
1 600 290 1
2 600 290 1
3 568 290 2
4 568 268 1
5 596 296 2
6 596 296 2

service@vcm-gruppe.de

Aufbauanleitung

Artikel:
Hangesch.B60 Esilo 2 Tur

 600 x 310 x 600 mm

1

2

3

3

45

6
.. ..

  7x50mm

 8 x

  A    B

 8 x

   C

2 x

   D

20 x

   E    F

1 x    4 x
   L    H    J

 2 x

3.5 x 16 mm

4 x

M4 x 22 mm

K    I

    4 x

   G   8 mm  6x80mm

2 x 2 x

128 mm

30 x

600310

600

5

6

M 1 x 565mm



1

2

A x 8

I x30

H x 4

G x 4

E x 8

3

1 2

3

3

2

6

2 x A
2 x A

2 x A

2 x A

4 x H

3

1 2

5

G

G

6

6

M

6

G

G

6 6



G x 4

E x 8

G

L

J
x 2

x 2 x 2 x 4
E

x 2
K

E
x 4

C x 2

D x 4

4

C

G

G

L

5

1

3

4
5

C

G

G

2

5 5


	6570278-80-Montageanleitung
	6570278-59-Montageanleitung
	6570278-77-Montageanleitung
	6570278-62-Montageanleitung
	6570278-49-Montageanleitung
	6570278-40-Montageanleitung
	6570278-46-Montageanleitung
	6570278-52-Montageanleitung

